o = Ao] A7} HIE 7] ke AL 12w

D (1-x)Q+x+x2)=1-x3

@ (¢ +xy+3%) (0% —xy %) = ot 277 4y
@) (x-3)(x-2)(x+ 1)(x+2) = x* 852 412
@ (a-b)(a+b)(a®+b*)(a* +b*) = a® ~ b*

® (a+b-c)la=btc)=a®-b?=c*+2c

~&B

(x=3)(x=2)(x +1)(x+2)

(x —Xx— 6)()6 -x-2)

x*—x=rFA

(Y-6)(¥-2) =2 -8Y + 12
=(x2-x)?-8(x®-x) +12
=x*—2x3 - 7x% + 8x+ 12




T oA 9 gho] 2x% — x — 6011, AT IR 4 4 4% —dx -4
o, & o] xpA] O] Fof-FoF=?

@ x-1 @ x+1 (@)x—2 @ x+2 ® x+3

gl B Haguas] 255
2x2 —x—6=(x-2)(2x+ 3)
B+ -dx-4=(x-2)(x+2)(x+1)




At « B axb=ab+2a+b)t AT 0, = FHA O F
a, ek St ol | o - B 19 g7

(Bxxx)—(3*x)+{(-1)*2} =0

@ 0 @ 1 @2 @3 ® 4

B

AL+ o A oof mtzhA

3xkx=3x-x+2(3x+x) =3x2+8x,3xx=3-x+2(3+x) =
5x + 6,

1%2=(-1)-242(-14+2)=-2+2=0

Fo]A 212 3x2 +8x— (5x+6) +0=0

3x2 +3x-6=0°A3(x+2)(x-1)=0
Lx=-2F=x=1 . |e-BI=3

fllo




O|ZPL Al x2 4+ 2/x| -8 =02 Ffl= 2

® -2, 4 @)—12

@ -4, 2 ® -4, -2,2,4

B

x% 4 2lx| - 8 = 094

1)x>0Y o,

¥ +2x-8=0, (x+4)(x-2)-0
x=—4F=x=2

J8Y x> 00|22 x =2

i) x<0¢ o,

¥ +2x-8=0, (x—4)(x+2)=0
x=4FE=x=-2

I8 x < 00| B8 x = —

i), ii)ollA ol sl -2, 2




ORI x* —mx+n =09 F T o, 2L T ], oA 4

o

2 —4x+1=09 F T2 a+p apoltt. o] Wi, m3 4 n? 2] 27

®3 @40 02 @15 O

B )

x2—mx+n=09 F o] ¢,fO|BEE

a+pB=m, aB=n

W —dx+1=09 F 2O o+ B, af°lER

FE G (@+p)+(af)=m+n=4

F2Y FH (a+Bap=mn=1

om0 = (m+n)3 - 3mn(m + n)
=64-12=052
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gO

@ a>b, b>cOolHa>c

@ a>bolHa+c>b+c,a-c>b-c

b

@a>b,c>0°]@ac>bc,c—l>—

c ¢

b

@a>b,c<0°]‘ﬁac<bc,g<;
1 1
@a>b>0°]‘?ﬂ— -
a b
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= 25
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B

0.3x-05<04
x—3>-2(9+ x)

3x—-5<4
=
x—3>-18-2x
x<3
=
x> -5

. -Hh<x<3
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O34 f(x) S 2% -3x+ 28 s mlo] Ym |7} 30]30, x2 —4x + 3
o2 Us o] Y7} 3x Y o, £(x) S x2 - bx+ 620 U= w9
SRS

D 3 @ 3x+3 ® 3x-3
(@)6)6—9 ® 9x+6
F(x) = (x=2)(x - 1)0(x) + 3
f(x) = (x=3)(x-1)0'(x) + 3x
o f(2) =3, f(3) =9f(x) B x? - 5x+6 22 U= w0 L]
£ ax+ bz olH

f(x) =(x-2)(x-3)Q"(x) +ax+b
f2) =2a+b=3, f3)=3a+b=09
a=6, b=-9

UM AE 6x -9




9. 1999719 t}HAl x2 —2x -1, x2—2x 2, o, x2—2x—1999 Zof A
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>

X
AG=7t A4l AxpAlo] Fo 2 Q1B 54% AL BT IRI7R

@usH owuA 5K @64 G A

x2=2x-n = (x+a)(x=b) (a, b= ZAA5) 2t otH (1 < n < 1999
< 7pedsp)

ab=n, a=b-2
n=1-3,2-4,3-5, ---, 43-45(=1935) 9] 43 7}




2= V5 +i 8 WESHE Bag pof tiste] z 9] g2 (H &2

@ V3 02 @5 ©G)v

z=x+yi(x, yEAP)Z O (x+yi)2 = V5 +i

X2 =y 4 2xyi = VB +i oA BALT7E A2 g 279 st
¥ -y2=145 2xy=1

Z=(x+yi)(x—yi)=x2+y? o|B2

(x2 +y2)2 _ (x2—y2)2 +4x2y2 — (‘/5>2 +4(1)2 6
2

X24+y2>00B2 %2 +y2 = 6
zZz= V6

2=V5+i,22=V5-i
22 =(V5+i)(V5-i)=6
7z = + V6
Z>0°]B& 7= 6




11. nol AASeIN ,, B, 0] OIAFBABA (n+ \/n(n — 1))x% - Vnx— v =
09 & A ((11+(12+ A ag9)+ (B1+B2+ - +ﬁ49)-/] a9

@1 @ 2 ® 3 @ 6 @7

~&B

(n+ n(n—l))xz— Vnx—n=0
= A9 BA o utt

_ Vn
S =T,
1
= et vl
a1 +B1=V1i-0
@y +B2=V2- V1

@49 + Bag = V49 — V48

(01 + a2+ +au) + (B1 + B2+ + Pao)

= (@1 + B1) + (@2 + B2) + -+ + (249 + Bao)
=14 (V2-1)+(V3- V2) +--- + (V49 - V48)
= V49 =7
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y=—x2+x+6 2 1L} x Zof FP<I

Y
A4 1o] ghbe & 3 A, B oflA] x Fofl 541
S 0] 1 #*H i Z47F D, C g §h,
;(-]D ’:I X _L}. =S m O]E]'_]_L St Hﬂ oABCD
1 B =
o Ee¢] Zol 4%0?( <m<3) 1
[CO D\
(m,0)

11 31 49 29
o> o ow o OI

1\* 25 -
y=2txt6=—(x-2) +2 AL HABE (m, -

m? +m+ 6) °|t}.
X124 0] 7FR 9] Aol = 2 (m - %) SEN

X2 o) N2 9] Aol= —m? + m+ 6
(DABCDEH| 9] Zo])

2(2 (m—%) ~m? + m + 6}

= g o uf, Huzre ? oltt}.




AP AL 64— 620 4 112 = G+ 1

of 27

13.

3®)3 @ 4 ® 5

@ 2

2O e

ol
0

]

AL
o

K-

=

B

0

1
xZ

6

WAAZ 2 - 6x+ 11—~ +

X

—6<x+%>~|—9:()°] Hot.

o2

S

o= 4

Tjlo

1=

o] Alof &

oyl
s )
TR
x B
o =
Wog Ty
1 T S
—y —s M
+  +
S s B




@D -1 @)0 @1

@ 9] FHof a(a < 0) & JoH
ax®> —a® >0 0|1

olAo] ax® + (a> - 1)x+b >0 3
o) 7|50} s}E =
a’-1=0,b=-a°
La=-1,b=1

“a+b=0
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